= AH O
N = 0 &8 AF S & Al A
2010E = 20Aa LGN SRR SR ~ &EES
2 ZEF S22
Hz: XSRS &H2elZh
CHRl: RIS RFXIEHH &0122ldH] (e dS)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol &F2H @;OH Hns
SAR B2 19,972,301 20,550, 100 NABT77,799
= 76,576
< 2,490
Al 19,893,235
KRR S &4221EH] 6,720 0 6,720
== 2,490
Al 4,230
KRR & H 22138 6,720 0 6,720
< 2,490
Al 4,230
H=2SAXNLLHH F& 6,720 0 6,720
< 2,490
Al 4,230
101 o124 4| 220 0 220
< 110
Al 110
04 JIZtM22XNHs2 220 0 220
ON58 HM2SAIXNYAH JIHM2 2R o182
220,000< 220
< 110
Al 110
201 Lt AH| 4,260 0 4,260
< 1,290
Al 2,970
01 AF222(H] 4,260 0 4,260
OHNb3 FRESAIXYS) 2= UBtE2H|
3,320,000 3,320
< 830
Al 2,490
OHM53 M2ISAIXNYEH LREX Z S|
940,000 940
< 460
Al 480
202 OiH| 1,700 0 1,700
< 820
Al 880
01 2| 1,700 0 1,700
OHM53 H=2SAIKNYEHNH HRF=E b
1,700,000& 1,700
== 820
Al 880
203 HR=XH| 540 0 540
< 270
Al 270
03 AMHEHFXHR2FZXY| 540 0 540
OHNb3 MREAIXYAI] 2=
540,000< 540




SN

s27 220

HE: NYRXISH &0 2el B
SHol: RIXXISHH &1 2eZl (erel:®e)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
< 270
Al 270
X m o 23t 1,299,366 1,411,759 A112,393
ALBE AR FX 481,338 549,930 68,592
EHAYASE SIS AMEISH 2 41,800 43,600 A 1,800
202 01l 36,000 36,000 0
04 2I3H0It| 36,000 36,000 0
ORYZRY XK Hat
1,800, 000! x20 *13| 36,000
303 ZA2 5,800 7,600 A 1,800
01 Zar3 5,800 7,600 A 1,800
O=fpel 2+RN AN 4,800
—z2% 500, 000! * 152 M 43 2,000
-2 300, 00021 * 152 A x43] 1,200
-3 200, 000! 252 N 43| 1,600
ORYZ2Y BE 2AE 32 50,0008 +20% 1,000
FAU AlE BI2i9le 2 165,702 192,391 26,689
307 QI2F0IH 165,702 184,491 18,789
05 SIRtelerz 165,702 184,491 18,789
OBU 2SANE 2% 165,702, 00021 * 14! 165,702
ASALFAS S8 HHX 75,535 88,444 A12,909
201 Ypre | 65, 180 71,194 16,014
01 AtR2telt| 61,580 66,394 ~4,814
O2YY =24 2| 2
6,0002!*1,00004 6,000
OFAHAIE I R 25,0009 *4Z5%123] 1,200
OBRAASNSE ALY
500, 0002 <241 2+ 43 4,000
SHAC HEH M 100, 000! *50% 5,000
OFLAY 2t 500,0002! * 122 6,000
OTRLAY =3I 600,0002 +25] 1,200
OAlL7E 28 #A 822
100, 000! 28] * 1574 A 3,000
OBZN U ASH M 7,0008«2004+122 1,680
oAy 82 500,000 * 122 6,000
OASYRENS 98 YstagH|
20,000,000 20,000
ogy =4y 10,0002 * 128 1,200
ougr=s 6,300
—-=9X 15,0002 +205 128 3,600
— XX 9,000 x2552+ 122 2,700




2N ERT 20
By By 25
Sl AL PH AR

RA B SA(BH) - NRAY - B 01 e HRE2
02 323l 3,600 4,800 A1,200
ORHER= 300,000& =12 3,600
401 AIEHIZ R0 1,000 6,900 /5,900
01 AI&HI 1,000 6,900 A5,900
O7Ua g £35S £XH 500,000% 24 1,000
405 AHatF S 9,355 10,350 A995
01 ML =ESF=H 9,355 10,350 2995
Ozl ol a HLke | (THAI) 3,500,000& = 1CH 3,500
ORFEY SMAMEII(THA) 1,000,000 *1CH 1,000
OFUsg 23 4,855
—ols4a RIII(alR) 550,000 = 1CH 550
—IAREI(A ) 770,000& = 1CH 770
—2ER S2IH(A ) 550,000& = 1CH 550
— A (&T?) 110,000 = 1CH 110
—d XM 2 (20kg, &1 7) 275,000& = 1CH 275
—3¢ gh& JrAEXI(CHA) 2,600,000 *1CH 2,600
e BMENE 98 XY 72,626 70,578 2,048
201 et 11,000 9,000 2,000
03 A2 HI 11,000 9,000 2,000
O+ SaXT MUl A
5,000,000& * 12 5,000
OFDIZY S5 A&
500,000& *3H = = 5| 43 6,000
303 &=z 61,626 61,578 48
01 Z&a= 61,626 61,578 48
OoFstd ots 252 XN& 58,926
—OAl 191,500& x5 »12& 11,490
— 1Al 168,500% x4H x12& 8,088
—2Al 139,000& 48« 12& 6,672
—3Al 95,500 x6H *12& 6,876
—4AI01 &~6A10] 2 86,000& x25H x12& 25,800
Osa7 AL MSla AL A= 2,700
-5 1,000,000& * 12 Al 1,000
—E25 700,000 * 12 A 700
—&d 500,000& 22 A 1,000
ol QIAF2te] 46,499 46,499 0
el 24| 44,819 44,819 0
JIHNZ2NSE = 44,819 44,819 0
OUMes oIEYy 44,819
—Jl=s 35,5703 x12E 90 38,416




SN

mau: gENoy 23
9 AlLTE ARYR =X (er9: @@
I:I}\_I X ZH C|—O|(§Ij;”) }\.“bl}\I,O-I A2 AFOH I|_‘|LI;=|_|‘:_ HleDF
—Re5gsrE 35,570& 12«15 6,403
201 LetEIH| 1,680 1,680 0
01 AFR22lH] 1,680 1,680 0
OClIAII& 3l 3o+ 70,0003 x4 x63] 1,680
NMALZXE A8 23l W= 22,000 22,000 0
203 HRFLH| 22,000 22,000 0
03 AEFXHSFAH| 22,000 22,000 0
OANHEFZ HARZ=XH| 22,000,000 * 14! 22,000
S2 7 808 AZEeldl tal 20,000 20,000 0
307 212t01& 20,000 20,000 0
04 QIHHAIE X 20,000 20,000 0
O=3d7 stots AZ=eldl i3l
20,000,000& x13l 20,000
JIZtHZZ2X4 29 37,176 66,418 A29,242
101 el H| 37,176 66,418 A29,242
04 JIZtHIZ2Z2 a2+ 37,176 66,418 A29,242
OJIZINZ2 2 X MIEE AIHEREZ2 35,274
—dZEH 405,728,000 *2.54% 10,306
—HIQYEE 10,306,000 *4.78% 493
—=20H3 405,728,000 *4.5% 18,258
—1EEH 405,728,000 *1.3% 5,275
—&HEH 44,819,000 *2. 1% 942
OJIZtNZ 2R E&Z 1,902,000 x1H 1,902
2 FEIIE Y LA 244,855 283,428 A38,573
—&8o ZEole ¥ =F 97,250 101,600 A4,350
201 LBt A 70,800 64,000 6,800
01 AtE222|H] 68,800 64,000 4,800
OJ|&ae| L2 400,000& *12& 4,800
OTREAMHFA ABt=ZH| 16,000,000 14! 16,000
OFZANHZ=E S| 10,000, 000 *14] 10,000
OFRYREIAN M 20,0003 200 33| 12,000
OFRIRAHEAM HZ 10,000,000& 14! 10,000
OHTIANSZA HREDH ME
20,0003 x2002 *4E 16,000
03 A2 HI 2,000 0 2,000
O TUJr 2EFOI2tH, 58 LHES| =
2,000,000 2,000
202 O4H| 18,000 18,000 0
01 =Wl 18,000 18,000 0
OTZAMZA 0 18,000,000& 18,000




SN B B2
B NYHEAY A5
ool PHO ZEIIH L LA CERL
SN - EH . S(3) - MRAY - BES Ofl &k 04 e HRz2
203 YR FXH] 6,000 6.000 0
03 A=A HSZ=LAH| 6,000 6,000 0
ORFIIE L ola ALY
6,000,000& 6,000
405 AHatH S 2,450 2,000 450
01 ML =ESF=H 450 0 450
OH&F (&) 450,000 = 1CH 450
02 SHRY 2,000 2,000 0
OBIN2A AT 10,0002 *200 2,000
TAES 8,400 8,900 A 500
201 et 2,400 2,400 0
01 AtR2teld] 2,400 2,400 0
OZ At Let=EH| 200,000& =122 2,400
202 01t 6,000 4,800 1,200
01 =AY 6,000 4,800 1,200
OZMER =80 20,0003 x5 +52U x 123 6,000
dHEE 70,770 85,520 214,750
201 EHRHH| 56,420 58,020 A 1,600
01 AtR2teld] 47,000 47,000 0
ozEHe Lurssy| 20,0002 * 128 2,400
OPHEZANAD ARIIZ 222
800,000& «12& 9,600
OREAIM 22 2 2104 25,000,000& 25,000
OPHERE NX 0,000, 0002 10,000
02 832234l 9,420 11,020 A 1,600
OFEE2HNAIE RXNE= 200,000 =100 A 2,000
ORHERHANE TH(7H)
1,000,000 *1JH £ 1,000
oSl sA2el 200,000 «12& 2,400
oxZE g2 200,000& 128 2,400
OAoISTV=A = 135,000& 128 1,620
405 AHoHESHI 14,350 12,500 1,850
01 M USEHSH] 14,350 2,500 1,850
O9tolleH(&l5) 8,500,000 * 14! 8,500
OS& 0ol (CHA) 210,000& 54 & 1,050
O=R«&0tol2(CHA) 1,600,000& 345 & 4,800
SHAXZE A & 22l 68,435 87,408 A18,973
101 1218 16,593 3,267 A15,674
04 JIZHMIZ2XHsSE =+ 16,593 32,267 AN 15,674
OSHZA Q12 16,593




SN BT SR
ol Ny#Fey 2t
o9l RHO ZaIIE L LA (69 &)
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
—ZAREE B2RE 46,7902 3 <102 1,404
—2XA B2 46,7902 x3% *432 6,036
—FAH U JARE 42,6709 7282 8,364
—dugEz ¥ 2002
6,035,910% 7.04% 425
—MEEE ¥ DERER
15,802, 9302 2. 3% 364
201 Ygreg| 49,842 53,141 £3,299
01 At 2ty 49,842 53, 141 A3,299
OSAHZAMT SFHQH 44,6702 212102 9,381
OS2 2ZA 2 44,6702 %212 x41 38,461
OSHEZA YL Aur28H 2,000,002 2,000
202 01t 1,000 1,000 0
01 =LH0i | 1,000 1,000 0
ONSEA U HFXET AAOGHH]
20,0002 x22 x252 1,000
203 YREZY| 1,000 1,000 0
03 AlZ =T =Y 1,000 1,000 0
OAZSHEZA AR5 Y| 1,000,0002 1,000
AT BHBHE XISTIA 22 sl 270,280 234,767 35,513
ZOIRAME 2 B 62, 120 61,050 1,070
201 Yer2g| 53,480 52,250 1,230
01 At22relb| 16,480 30,250 £13,770
O FUNXHE 2L 10,800
—XFEZAK 2AIE €& 4,0002 2002 800
—FOURKME 2 SEAAY M
10,0002 +1,000 10,000
OFQURXAY L ALK DS 4,680
—FUNAR 2HE DS
3,000, 0002 * 14! 3,000
—2A L ART DS 70,0002 x242 1,680
OFQRXME 2 AP 8H 1,000,008 1,000
03 A2 Y| 37,000 22,000 15,000
OFORAME £20LE AAEY T2
4,000,0002 <23l 8,000
o227 el T2 2
1,000,000 %13 1,000
OXRELHS Nz 222 ME
2,000,0002 * 18l 2,000
OXZELHS Wz X
1,000,002 #1531 ¥1174 S 1,000
OFQIRAICNS LALY L 22N2 ME
2,000, 0002 *42} 5 8,000




A SES SR
mu: Qwsmole g
SR A2 SMGtE NIYAX SE2st (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- o T - = S = &= 0:”/&,% WS
OF0XXEH 2435 f1et 23,38 Uzl
3,500, 000& *23] 7,000
203 HRF&H| 4,000 4,000 0
03 AMBFIHRFAY| 4,000 4,000 0
O Xy 24 2,000,000 =14 2,000
OFZHHE  HESAL 2HE 3
2,000, 000& 14 2,000
301 LEtEA = 2,800 4,400 A 1,600
10 ALAHIE &= 2,800 4,300 21,500
OXXHEH 29 &3 LHS| 300,000&+2HE 600
OO0t 8 AZLHI
100,000& * 1101 S*23] 2,200
405 AHoHESHI 1,840 400 1,440
01 XL S SFSHI 1,840 400 1,440
OFUXXIME ZHSHAIH(A) 1,840
—HHZ0IN 120, 000& 104 1,200
—0l& 32,000& 204 640
ge 2 HAE dEE8s A 6,480 5,400 1,080
307 B12+0l A 6,480 5,400 1,080
02 BIHANEX 6,480 5,400 1,080
OwE ¥ BaW MEBE(228)
3,000 +«30E +E 63|+ 122 6,480
AAES2EH 2F X3 201,680 168,317 33,363
301 EtEA = 195,680 165,317 30,363
04 MtEHHUIA2HHI 195,680 165,317 30,363
OO0rAld| 109,980
—XNES2EU 3,000 «6 % =14 K| CH+3652 91,980
—HU HE2HH
3,000 *4ZH 5 X| CH*300 18,000
(@):E=3:] 1,000 4 Al 2tx 1052« 190K XI CH 7,980
o1ul=y| 60,0003 732 43,920
OstHEE 20,0002 197K XI CH 380
O & 100, 000& +21JH XI CH 2,100
Os &l 60,000 = 12J0 XI CH+12& 8,640
O™l 29| 90,000& *21JH XICH+12& 22,680
401 A EHIL 2048 6,000 3,000 3,000
01 Al&H| 6,000 3,000 3,000
Oz =2l 2,000,000& 34 XI CH 6,000
FESH elZet 15 2 KX 2tel 302,893 343,634 240,741
FESA HHl 7L 101,900 105,500 23,600




SN BT SR
HE: XYY st
ool YA 0Te 1E U KX (el & 2

M-S (3) - HRAY - BES Aro e =2
405 AHoHESHI 101,900 105,500 23,600
01 XYL S SFSHI 101,900 105,500 23,600
OFLEHI(THA) 43,000
—3d=H 1,000,000& *30CH 30,000
—2UH 400,000& »20CH 8,000
—ZEEII(A3E) 1,000, 000& »5CH 5,000
OJIEtwE e HE 43,900
— IPESIII(CHAI) 190, 000& *100CH 19,000
—POE A9IE SIE(UA) 2,200,000& *5CH 11,000
-2 A2lE FE( 2,200,000 6CH 13,200
—gRE =¥ =80 700,000 *1CH 700
OR3d MIAEX 7Y 15,000,000 * 14! 15,000
FESA AIZZEH & sS4 222 152,713 181,834 A29,121
201 Let2d| 142,313 153,434 A11,121
01 AFR 22| 2,700 2,700 0
OFAXA2F 7Y 100, 000& *3CH 300
ONSERE =3HI( E28)
300,000& »23| 600
OEESY 422F + 150,000& = 12& 1,800
02 =234l 139,613 150,734 A11,121
OLBtMEtalHd AHE 110,000& «602| & 123 79,200
OdZIHIL MEZ 15,0003 308 &+ 12& 5,400
Odssld AIEZ 8,160
—deEESH 25,0003 162 &+ 122 4,800
—NEME3IH (768Kbps)
280,000& 13| & «12& 3,360
OQHUHASLAIE = 42,0003 +32 & +12& 1,512
OXNERNES L (AM) AIBE
933,000 x 18| &+ 12& 11,196
O0lsds A EZ 63,000 *3CH 123 2,268
O=FLREI| |XHl 142,000,000 *141x5/100 7,100
O Us4&aZ Sl 35,000& »5003] & 17,500
OLFH MAZX(PS) KAHI(F, =)
6,900,000 *1241%3/100 2,484
OFAX =X 100, 000& *3CH 300
OLBEIARE MatEHl RAEH]
250,000 128 3,000
OAMEEZ AL HEEHI ||
17,842, 150 * 141 x5/100 893
Oz KXYl 200, 0003 *3CH 600
202 O4dl 5,400 5,400 0
02 XY 5,400 5,400 0




SN E/7 52
ol gz 2t
oelr MBS 0Te 2 Y |X2e el AR
= — PSS
SN B SRA(SIH) - MBAY - BAS Abod e =%
OFSEA AT 2AR FAH0HY)
150, 00021 *38] 124 5,400
401 AEHILS T 5,000 23,000 A18,000
01 Al&l 5,000 23,000 18,000
OFEE FUME A S0 02 Z2E4
Al OIF ZAF 5,000, 0002 * 14! 5,000
NEgE IS 98 28 BS 48,280 56,300 8,020
201 Yer2o| 48,280 39,000 9,280
01 AtR2elt] 48,280 39,000 9,280
OPE EHOIX HE 10,000,0002! *13] 10,000
OANPIHZS DS SALY
30,0002 * 100AI 2t 124 36,000
OANRIZ2SDEE M2HH 7Y
190,00021 %18 A #1224 2,280
SEX0 MY 900,908 846,197 54,711
HANE 25 L RIS 665,694 609,383 56,311
sS=0 FAze 311,594 323,633 A 12,039
201 Ygreg| 296,344 319,583 £23,239
01 AtR2elt| 122,048 150,890 128,842
OFAHIXIE 27 6,200
— g stE 200, 0002 *54 x33] 3,000
—A85E 20,0002 407 *43] 3,200
OAD AR WEM 7Y 250,000 +128 3,000
OsAFR 7Y 30,0002 *702 2,100
OSNELX P 15,0008 2% 128 360
OBNEEZY 29 60,0008 x4 240
Os2E Nal R0 70,0002 * 153 1,050
ouldl Yxte 25,0002 *367H A +122 10,800
OF4I,2IEFI Ux8
36,0002 * 1404 A *122 6,048
OUEHz S8 1,500% 2,002 Ef 3,000
OXNYE +42 15,0008 %7021 1,050
OSES FUME LABA A2
9,000,0002 +92 81,000
OZZS KHIZSH ARA X2
800,002 9% 7,200
02 ZTZ2YH| 174,296 168,693 5,603
OBANFIANLE RNB2 425 29
640,002 *122 7,680
OFAANEES 220 KW 2L 3,000,000 *14] 3,000
OFA = RXB4 400,0002! %1074 £ 4,000
OFA BoHI(75,4S) 430,00021 +122 5, 160




SN BER E20
M2 58X0 ALY
SRl HANE BHE L 2K CrE
RA B SA(BH) - NRAY - B 01 e HRE2
OFA ASAIE orXB2Idl 290,008 128 3,480
OFA &II&H HIIAA 242
1,200, 00021 * 14! 1,200
0L R 350,000% 122 4,200
OZAJIAALLD Hiah MUSEHZ
100,002 13l 100
OF A R 7,500,00024 #1224 90,000
OFA HIIANES SXS4 70,000 +600kH 42,000
OFA 293 H2H 2 LS|
2,000,00024 +25| 4,000
OJA | SH2AE 1,000,008 18] 1,000
OBA HAX L SUHHSE SE A
300,0002 13l 300
OFAF Bl &I SXR2IH 130,008 122 1,560
O£ HIIHME 150,000 %2CH*13] 300
OB H3E HAy) 13,5002 156 672 2,116
Oel2DI| ME2 RXB2IH 350,008 128 4,200
405 XHAHE SHI 15,250 4,050 11,200
01 RALSEFSH| 15,250 4,050 11,200
OFAZ2IA BIX HEII(A57)
450,000 *1CH 450
O, &HII& TV(AI77) 700,000% * 14 700
Ox= s S () 11,500
YA 3,500, 00024 +2CH 7,000
—®E HPel 1,500, 00021 +1CH 1,500
—OILEOI (B8 2S017) 2,200,008 *10H 2,200
—22f OHAX 80,0002 * 14 800
OB 2HIX R2HAR) 200,000% 54 1,000
OH8loa S0 (AR) 800, 0002 2CH 1,600
HAAA LHels K4 111,200 83,540 22,660
401 Al&HI L =2 0| 111,200 83,540 22,660
01 Al&t| 111,200 83,540 22,660
OFA REHAl W U] M2 2 832 U
E HADA 13,000, 0002 * 144 13,000
OB REHA W Le)| Wy M8 o 24
= 2,500,0008! %14 %25 5,000
OFA 2L BY THMTA 4,000,0008 14! 4,000
OFAF JIHA 2Z B4BA 5,000,008 14! 5,000
OBAMU SXIAIEES Z2IBA 24,0002 800 19,200
OLEDS I DA 25,000, 00021 * 14! 25,000
OFA AHS(EHYZ) &X  5,000,0008 *87H 40,000
223 ¥ WA 225,900 197,210 28,600
201 LBt gt) 225,900 197,210 28,600
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SN EEP 520
DU YHSAAH(SYD 2D
CHel: o2l (52) EERE
RA - HM . SI() - NRAY - BES 0fl &+ o e HRS2
A 17,688, 731
ol gyl (52 7,514,002 18,023,484 509,392
= 76,576
A 17,437,516
ol2i2 et 7,437,516 17,932,598 495,082
101 01 24| 15,467,246 15,852,865 385,619
01 24 3,867,206 14,896,922 £1,029,716
o=3 7,342,517
—43 5,235,330« 12+ 128 62,824
—53 2,961,300%+19% + 122 675,177
—62 2,395,900 +622i 122 1,782,550
-72 1,862, 70021152 122 2,570,526
-83 1,213, 7002 x5 128 801,042
-92 973,900% +39% » 12 485,786
—ls63 2,457, 2002 12 +128 29,487
-IIs73 2,099, 80091 *15% * 128 377,964
—ls82 1,855, 6002 %242 122 534,413
-II593 1,465,2002 +32§ %122 52,748
on2+g 7,342,517,0002 *1/12+96% 587,402
onU+g 702,337
—Jtmag 232,368
SR X 40,0009 %3342 +0. 75+ 122 20,240
SIIEIIIE  20,0002+334%+1.30 #1228 104,208
oMM 014 =tz
30,0008 +22% 122 7,920
L TPe= 97,369
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—E3 2USX PY 35,0002 +52 175
—FESOIAEA JIEFSSH 150,008 568 900
OMEZLZ AR S|
6, 0002 *4Z +8L 62 1,152




SN

s N2

ME: olFHOl XYM e
S WAXE A Y 8 =T |
B . M. CHe (5 SALO] . THA 2 Al OH HEE =
T—I.O_|.I_T|(2|j:”).}\-“_|_}\l-lzl.Lo_i o= O] AF OH =]
02 S=294l 4,400 4,200 200
OEHIZ=z )& FXE+Hl 150,000& x1CH*6& 900
ONEFUZADE SBYERS
2503 *14,000AH 3,500
202 O HI 2,880 2,880 0
01 =2WAHI 2,880 2,880 0
OMEFEHIAZT A Kbl
20,0002 *4H 6 «6E 2,880
405 XH&HFE SHI 400 0 400
01 XML =2EFHSHI 400 0 400
ONE =Dt ZAE CXIEI0cHTHA)
400,000& = 1CH 400
KIS 2= AL 15,191 25,919 N 10,728
101 el24H| 11,591 22,319 210,728
04 JI2ZtMZ22hsE+ 11,591 22,319 A 10,728
OHIItAl . ZHLMEH ZAIRI 14| 11,591
—JlEg= 35,5703 x4 x22 2«3 & 9,391
—s25dg 32,5703 x4H 135 1,694
—E == 32,5703 *4H «x3& 391
—MHEE 11,476,000& *x10/1,000 115
201 et 3,600 3,600 0
01 A2 22l 3,600 3,600 0
Oogolated XAl oFLH AL JIE
1,200& *3,0008 3,600
HHE2AHH(ZBEAR AR 143,380 158,260 A 14,880
ol 2| 43,980 47,760 A3,780
oz 2F | 43,980 47,760 A3,780
203 LR F=&A| 4,380 4,560 A 180
04 2ASILERFEI 4,380 4,560 A 180
ORN2IERFAY| 365,000& 123 4,380
204 XN AHY| 39,600 43,200 A3,600
03 SEERdeE =S| 39,600 43,200 A3,600
ONREY 100,000& *33H x 12 39,600
Jl=Zl 99,400 110,500 A 11,100
Jl=23Hl 99,400 110,500 211,100
201 Et29H| 47,520 51,840 N4,320
01 A2 2eltl 47,520 51,840 N4,320
OfAM2ZH| 60,000& *33H x 122 23,760
O= | 60,0003 33 = 12& 23,760




SA: SRR NRD
Hu: BHHSAAH (ST ML)
SHel: D=2l
_ _ _ Muo
SA-ZH - S2A(3AH) - MEAME - HES Ofl &k K Ol Ak O
202 04 b 51,480 56,160
01 =Uof| 51,480 56. 160
OJlegeET o] 130,000 +3324 128 51,480
405 Xhet S| 400 2,500

01 HMHES
E

F =4I 400 2,500
ol 2+ (CHAI) 400,000 = 1CH 400




SN P FOIMBXAD
u: 250s NS
Sl BT 29 CEEREED
_ _ _ Muo
SN -BH - S(B) - MRAY - BES Off &k il b o HRE2
SRR FOMSTAD 52,872,429 45,691,619 7,180,810
2 21,672,237
= 491,484
= 6,947,609
Al 23,761,099
Sstolz &s 167,780 163,060 4,720
OB EE 2Y 100,980 84,860 16, 120
B8 2y N 100,980 84,860 16, 120
203 PREZH| 1,000 1,000 0
03 AlMETYREY| 1,000 1,000 0
0BT u8aL A5
10,0008 *50% *23| 1,000
307 212101 98,000 83,860 14,140
02 DIAPARE 98,000 83,860 14,140
OsAREB IS 29 98,000
—FI|e x5 N 8,000,0002 +13] 8,000
—®2045 &It 4,000,0002!+13] 4,000
— KA 3 &t 1,000,000% 40 40,000
—ore R 15,0002 +602 900
—HEHE S 300, 0002 +40% 12,000
o= S 1,000,00024+13] 1,000
—2tAH| 400,000 * 122 4,800
~XFR a2 50,0002 * 053] 15,750
—BIET 45 110,000 *1053] 11,550
405 Xrar3 S| 1,980 0 1,980
01 XML SEFHSH] 1,980 0 1,980
OB (M) 330, 0002 64 1,980
N S50l BA X2 53,000 53,000 0
S50l BA X2 53,000 53,000 0
201 L2 1,000 1,000 0
01 At 22l 1,000 1,000 0
OSse 21 L4 1,000,000%4 1,000
203 REZH| 2,000 2,000 0
03 AMEHYLETY] 2,000 2,000 0
OHS 2 2a8A =7 A3
10,000 +202 10| 2,000
307 212t0 50,000 50,000 0
04 BIFEALBE 50,000 50,000 0
OM63l S280t2 M 50,000,0002 *14! 50,000
AW HALs x4 13,800 25,200 A11,400




2N ZRP FOMEIAD
dH: 2oz UE
CHel B HY2SE T4 L
SMN-HHM .. AHA(SH) - MRAY - BES e a4 Hlw &2
- = T ° - = oS = =5 0:”/&,% Lsa
=Y HYE =5 13,800 25,200 A 11,400
201 LBt 13,800 25,200 A 11,400
01 AtSR2t2ldl 11,400 19,200 AT,800
OASAHEE 2H Folizrd H 11,400
—=E8AYI = ¥ B2z
950,000& = 12& 11,400
02 22234l 2,400 6,000 A 3,600
OSEHANLE & HEXNZ2 RER=
200,000& = 12& 2,400
MEHE 54 32,600 41,740 29,140
FEI M=z 29 32,600 30,500 2,100
TEE)| dEM=E e 32,600 30,500 2,100
201 LBt 3AH| 7,600 5,500 2,100
01 AtR22lH| 1,000 0 1,000
OXMsaAt2e dBt=2| 1,000,000& 1,000
03 A2 I 6,600 5,500 1,100
OFFE)I sUE Ua(ef+, HolEES)XA
300,000 x2&E =11l = 6,600
307 212t01& 25,000 25,000 0
04 QUIZHAE X 25,000 25,000 0
OHM20s MeEMs =703 5,000,000& 5,000
OHM14s MEM= HOIE=WMal  5,000,000& 5,000
OHM1a M= dUANS 5,000,000 5,000
OHM43l dex= HHELUEHUHS 5,000,000& 5,000
ORMl53 dMexs ezl 5,000,000& 5,000
HAaE B 2 24 70,420 67,000 3,420
= 14,400
Al 56,020
AXIFAE 4 54,000 57,600 A 3,600
= 14,400
Al 39,600
FaES2d JHUSEIE 9,600 8,000 1,600
& 2,400
Al 7,200
301 LetEAZ 9,600 8,000 1,600
& 2,400
Al 7,200
10 EALAHIZEAS 9,600 8,000 1,600
OMASE HAY JHUSXA(ZHLASY)
50,0003 2 Al 2t+83| x 12& 9,600
2,400

= H

7,200




SN ZET Fe
3 HAad B 2 'Y
Ero: APH A SR
M- (B H) - HEAY - B2 Al OH &EIE Hn=2
co=m s IR ° - = S = =5 0:”/|l|,% Lsa
HdadE 38 & 9,600 9,600 0
301 L84 9,600 9,600 0
10 HAtE 9,600 9,600 0
Ocu Su o stszeiY 29(4+
&2 50,0003 x2A| 2t+83| x12& 9,600
dad IR 30,000 30,000 0
& 12,000
Al 18,000
307 G12t0| 30,000 30,000 0
& 12,000
Al 18,000
05 glz+<] 30,000 30,000 0
OFA 2oyl T2
15,000, 0003 *x204 2 30,000
& 12,000
Al 18,000
d44E 38 4,800 0 4,800
201 €erEd 4,800 0 4,800
01 AtR2te 4,800 0 4,800
(OF-ENC = SA7 400,000& 123 4,800
LA ES 16,420 9,400 7,020
ol HdE & 16,420 9,400 7,020
201 Ler2d 3,500 7,000 A 3,500
01 AIR2 3,500 7,000 A 3,500
O&Ad 2Bt=ZH|
1,000, 0003 * 14 1,000
(OF=ENS 2 7 50,0003 x50H 2,500
202 O4H| 1,920 2,400 A480
01 =LA bI 1,920 2,400 A480
(OF=ENS] ChEs =l
20,0003 »4H #2353 123 1,920
301 eS8 1,000 0 1,000
10 EALAHIZEA S 1,000 0 1,000
OHALAEXNERA A& (UF)
1,000, 000& x13| 1,000
307 2I2t0l ™ 10,000 0 10,000
04 CIZFHAE X 10,000 0 10,000
O&EAE =gz XN 5,000, 000& 23| 10,000
N T MEol 18,789, 116 19,755,588 AN966,472
= 12,760,468
= 1,807,331
Al 4,221,317




SN
X XH .
S Tt

oLk

Al OH

— T

2
R
J2H

= H W

16,377,893
11,464,525
1,474,011
3,439,357

17,714,940

A 1,337,047

= N W

163,473
107,431
13,813
32,229

166,548

A13,075

= HnH

153,473
107,431
13,813
32,229

166,548

213,075

153,473,000

= HnH

153,473

153,473
107,431
13,813
32,229

166,548

A13,075

= HnH

12,289,613
8,602,729
1,106,065
2,580,819

12,668,008

A378,395

= H W

12,289,613
8,602,729
1,106,065
2,580,819

12,668,008

N378,395

12,289,613,000&

= HnH

12,289,613

12,289,613

,602,729
,106,065

12,668,008

N378,395

=z HnH

,023,386
,116,370
272,105
634,911

8
1
2,580,819
3
2

3,484,705

A461,319

= H W

3,023,386
2,116,370
272,105
634,911

3,484,705

A461,319

3,023,386,000&

= N W

3,023,386
3,023,386

2,116,370
272,105
634,911

3,484,705

A461,319

o

841,421

588,995
75,728

873,650

A32,229




SN
X XH .
S Tt

oLk

[
2

20
B
2

176,698

301

= HnH

841,421
588,995

75,728
176,698

873,650

N32,229

01

841,421,000&

= Hn W

841,421

841,421
588,995

75,728
176,698

873,650

A32,229

= HnH

70,000
49,000

6,300
14,700

80,333

A~ 10,333

= H W

70,000
49,000

6,300
14,700

80,333

A 10,333

70,000,000&

= N W

70,000

70,000
49,000

6,300
14,700

80,333

/10,333

= N W

983,240
383,232
180,502
419,506

1,318,500

335,260

= HnH

330,000
264,000
19,800
46,200

200,000

130,000

= H W

330,000
264,000
19,800
46,200

200,000

130,000

330,000,000&

= H W

330,000

330,000
264,000
19,800
46,200

200,000

130,000

=

4,200

1,760
2,440

4,500

A 300

= H

4,200

1,760
2,440

4,500

A 300

4,200

4,500

A 300




SH: ERT FUMBR
Hal: YASS MBOF X

Sl XHARINES X (e

el
x
bl
2
i
=0
o
*
>
el
=
R
=i
0x
o
=
[
2
=P
R
12
o
£l
0l%
IS

OMASAHE EdtHIE X & 4,200,000 4,200
1,760
2,440

= H

AaRHE =l NI 149,040 40,000 109,040
119,232

8,942
20,866

= H W

301 et2as 149,040 40,000 109,040
119,232

8,942
20,866

= N W

01 A2 H 6= 149,040 40,000 109,040
S4AANS =2 XS 149,040,000 149,040
119,232

8,942
20,866

=MW

Y REt=sS A 500,000 1,074,000 A574,000

150,000
350,000

=z H

301 et as 500,000 1,074,000 A574,000

150,000
350,000

= H

01 MaI2EH =63 500,000 1,074,000 A574,000
ORIt RetEs 500,000,000& 500,000

150,000
350,000

=

sy s s HEMY 1,262,405 722,148 540,257
832,863
128,863
300,679

= HnH

&2 2 A HI(=8]) 996,000 670, 148 325,852
697,200
89,640
209, 160

= H W

101 el 24| 996,000 670,148 325,852
697,200
89,640
209,160

= N W

04 JIAHZZ2NHESE= 996,000 670,148 325,852
OXtgZ 2 AL (2H]) 996,000,000 996,000
697,200

89,640
209,160

= N W

a2z At (=Hl) 72,600 52,000 20,600

21,780
50,820

= H

101 el 24| 72,600 52,000 20,600




SN ERD ZoME

HE: HASE MEOUEF X
=] S
=

el AEs

el
x
bl
2
i
=0
o
*
>
el
=
R
=i
0x
o
=
[
2
=P
R
12
o
£l
0l%
IS

21,780
50,820

=

04 JIZtHZ2HSE= 72,600 52,000 20,600
OXEZZAY (ZHI) 72,600,000 72,600

21,780
50,820

=z H

N =SE 193,805 0 193,805
135,663
17,443
40,699

= HnH

301 Let2a= 193,805 0 193,805
135,663
17,443
40,699

= HnH

o3 193,805 0 193,805
O3dU=S M 193,805,000 193,805
135,663

17,443
40,699

= H W

DI AHOHA CH 2 =& 165,578 0 165,578
79,848
23,955
61,775

= H W

M SXNSENMHUANZRA (UMOIENZRR) X 159,698 0 159,698
79,848
23,955
55,895

= N W

101 Q1A 159,698 0 159,698
79,848
23,955
55,895

= HnH

04 JIZHMIZ2XNSE = 159,698 0 159,698
OMIIEXNSEMEBIAEEZERR 21|
159,698, 000& 159,698

79,848
23,955
55,895

= N W

Fetds=AdEH 23 5,880 0 5,880

201 et=g&Hl 5,880 0 5,880

2teltl 5,880 0 5,880
st SHE 29| 5,880,000& 5,880

fgoEs & N 11,510 11,510

Chat XI& 11,510 11,510

=
SAHOANTL 22X SF=+2 8,000 8,000

o | o | o | o

201 Zet=&l 8,000 8,000




A SR FOMES I
M 2olEs U 1
el QB SHA X (&te &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
01 AtRZ2lH] 8,000 8,000 0
ORHDAMLX L2tX 2D =422
2,000,0002 x4 8,000
SESHAX 25H X 510 510 0
307 QI2to|A 510 510 0
01 22224 510 510 0
OLBESUHAN BESHI (R0, L0 0ts)
30,0002 17X 510
S AL X A HIHl X 3,000 3,000 0
307 QI2toIA 3,000 3,000 0
01 A2 LRZH] 3,000 3,000 0
OHA ALY X ZHHI 500,000 x6H 3,000
2= N 27,588,703 21,554,183 6,034,520
= 7,123,945
= 231,845
[= 4,467,441
Al 15,765,472
gde0E s 23,501,982 18,429,556 5,072,426
= 6,371,212
[= 3,179,460
Al 13,951,310
S, AMIAE S&EH XA 2,110,000 1,822,640 287,360
301 Yt A2 2,110,000 1,822,640 287,360
01 MIIBEELE S 2,110,000 1,822,640 287,360
OATHOIA TtH OtsSLsHE
100,000 *1,300& » 122 1,560,000
OAITHOIA Kt SAE5I2
1,000,000 x250H 250,000
OSMAH satEe XS
300,000 *1,000& 300,000
NTOF S4=5 BEIQ 2 104,933 0 104,933
307 QIzto|A 104,933 0 104,933
06 EE2 104,933 0 104,933
OAITHOIA KHH B8 2 104,933
—2009E X HAOLS 17,0202 %220 « 122 44,933
—2010E SMHAOLS 20,0008 250 « 122 60,000
NASE NHH 242 X 27,600 24,696 2,904
307 QI2to|A 27,600 24,696 2,904
05 BIZtRE2 27,600 24,696 2,904
OMASEE tH ESAA Az 1L
100,000 232 x 128 27,600
SBEWA E40S 24,200 20,500 3,700




SN

X{ ZH -
S = -

el SR0ES CEREE
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2
= 9,680
< 7,260
Al 7,260
301 LEIEAS 24,200 20,500 3,700
= 9,680
[ 7,260
Al 7,260
10 HAIAHIEAZ 24,200 20,500 3,700
OE+1usH K= 24,200,000 24,200
= 9,680
< 7,260
Al 7,260
QZERAIE BEKWAL ML 1,122,000 872,934 249,066
< 179,060
Al 942,940
307 @1ztold 1,122,000 872,934 249,066
< 179,060
Al 942,940
02 It aEx 1,122,000 872,934 249,066
ORIZIEFAIE EKWAL HRIHAH
1,122,000,000& 1,122,000
[ 179,060
Al 942,940
ZHOHOF, HOIBtWAL S+222Y 162,000 125,400 36,600
< 44,120
Al 117,880
307 elztold 162,000 125,400 36,600
< 44,120
Al 117,880
02 2IFoEx 162,000 125,400 36,600
OZ0L H0HE At E22E
162,000,000 162,000
< 44,120
Al 117,880
SIAIE ity 148,400 130,550 17,850
307 @Iztol A 148,400 130,550 17,850
05 BIZtRAEZ 148,400 0 148,400
OEFAl4E gy 148,400,000& 148,400
BAIE Ots2talt] 705,000 649,500 55,500
307 elztolA 705,000 649,500 55,500
05 RIIRIE S 705,000 649,500 55,500
OO0tS 2t I 705,000,000& 705,000
SAIE DA XIS 155,000 103,049 51,951
= 34,668
[ 15,600




SN B FOUMBXAD
HE: BRIIE X

el SR0ES (&9 HM
% = . dEE =
SAN-ZH-SA(FA) - NFAY - BES (il & OH '@E% Hlw &2
Al 104,732
307 @1ztol A 155,000 103,049 51,951
= 34,668
< 15,600
Al 104,732
02 YIS EX 155,000 103,049 51,951
OBS|AE WMw-Hl X 155,000, 000& 155,000
= 34,668
< 15,600
Al 104,732
EIAIE BIISAE K& 15,000 0 15,000
307 @Iztol A 15,000 0 15,000
02 QIZtFAEX 15,000 0 15,000
OEsAlE 195 N 15,000
—2009¥ (1-2) 150,000& 40 6,000
—2009% (421) 300,000 *30Y 9,000
BEAE HISANE =2 NE 1,350 0 1,350
307 elztold 1,350 0 1,350
02 QI3 a2x 1,350 0 1,350
oBitels Es|AME =2 & 1,350
—39¢! Ol5tAIA 250,000 *30H 2 750
—40Q! Ol&AIH 300, 0002 *27H 2~ 600
ANAAZE BSAE 2 X 48,000 30,800 17,200
[ 12,240
Al 35,760
307 @Iztol A 48,000 30,800 17,200
[ 12,240
Al 35,760
02 BIZtANE X 48,000 30,800 17,200
OAZHEA E]AE 2HRF 48,000,000 48,000
< 12,240
Al 35,760
SRAAE SAX A8l K& 240,000 0 240,000
= 88,000
< 39,600
Al 112,400
307 elztold 240,000 0 240,000
= 88,000
[ 39,600
Al 112,400
02 BIZtANE X 240,000 0 240,000
OANZHAESE BFAlE 124Hl X
240,000, 000& 240,000
= 88,000




FA: SR FUMEXF N
o

g 2015 N &

Hel: GRES (&2 &
_ _ - HEc
2N -3 - c2(3H) - NEME - HES Ol &F2H loﬂ/l\_Fo” Hns

= 39,600
Al 112,400

FMOIESHESS 15,000 57,600 A42,600
< 4,500
Al 10,500

307 QI2t0|A 15,000 57,600 A42,600
= 4,500
Al 10,500

02 QI2tHAB X 15,000 57,600 A42,600
OZAMIOL 82 BEEAIE XA 15,000,000& 15,000
= 4,500
Al 10,500

FAoHd 22 I 384,000 332,685 51,315
< 69,592
Al 314,408

301 et A3 384,000 332,685 51,315
= 69,592
Al 314,408

01 MZEEAEG= 384,000 332,685 51,315
OFYHL B8 384,000,000& 384,000
= 69,592
Al 314,408

S SF WAL Mind-up School 29 4,000 4,000 0

201 LBEt29h| 4,000 4,000 0

01 AtR22ldl 4,000 4,000 0
OS A== 500,000 x2H x4 3| 4,000

s g8 K& 10,132,324 10,871,580 AT39,256
= 3,153,934
= 1,419,270
Al 5,559,120

301 LeEt8EAZ 10,132,324 10,871,580 AT739,256
= 3,153,934
< 1,419,270
Al 5,559,120

01 AMIZIEE X262 10,132,324 10,871,580 AT39,256
oxseEsgzs Xd 10, 132,324,000& 10,132,324
= 3,153,934
= 1,419,270
Al 5,559,120

oMot 2222 X 1,674,209 1,673,280 929
= 669,685
= 301,357
Al 703, 167

301 LEt8 A= 1,674,209 1,673,280 929
= 669,685
= 301,357




SN BEHUD FZOUMBAAD
¥ 9R01E X
ool YROIES (el:@g

M -3 - SHA(SAH) - MEAY -

8= O

22
J2
=2
Rl
12
==
S
Ol
0

el

Al 703,167

—_

01 A2 2E X +6= ,674,209 1,673,280 929
tRadE2E2 A 1,674,209,000& 1,674,209
669,685

301,357
703,167

=MW

0ot RaEEs A 389,129 539,396 A150,267
155,652

70,043
163,434

= HnH

301 Let2a= 389,129 539,396 A 150,267
185,652
70,043
163,434

= HnH

01 A2I2EH+06= 389, 129 539,39% 150,267
OZor 2oEs2 X2 389, 129,000 389, 129
155,652

70,043
163,434

= H W

SOl 222 K& 854,817 935,091 A80,274
341,926
153,867
359,024

= H W

301 LEtEas 854,817 935,091 A80,274
341,926
153,867
359,024

= N W

01 MaIE2EH63 854,817 935,091 280,274
OFHId 2528 N&E 854,817,000& 854,817
341,926

153,867
359,024

= NN

A4 008 Ots2d=s & 360,000 78,500 281,500

112,795
50,758
196,447

= Hn W

301 LptEasg 360,000 78,500 281,500
112,795

50,758
196,447

r

=z HnH

01 A2 H +06l= 360,000 78,500 281,500
OAlZ0/018 Ots2=EX& 360,000,000& 360,000
112,795

50,758
196,447

= H W

S
r
HT
Ho
kU
>
{0

4,448,044 0 4,448,044
1,779,218

H




SN B FOMSNDY
HE: BRIIE X
S YROIES (Sl &)

SNBSS - MEAY - BES 04l &k 24

=1

(R

121
==
El
i
oy

800,648
1,868,178

=

301 et ez 4,448,044 0 4,448,044
1,779,218

800,648
1,868,178

= H W

10l 4,448,044 0 4,448,044
= X 4,448,044,000& 4,448,044
1,779,218

800,648
1,868,178

= N W

EIAE 24 X 312,840 0 312,840

307

e
o
=)

& 312,840 0 312,840

kA

02

=
e
0z

A Ho oo
S
>z H

312,840 0 312,840
178,840,000 178,840
134,000,000& 134,000

S
r
I
o

=
i
Ho oA
02
&
4

O O
L H
>

StEOl I 252 XNE 64,136 0 64,136
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401 AlHIL =0 914, 196 723,402 190,794
01 Al&H] 910,000 720,000 190,000
OZOIXD S 14K S2RES FHIIEY
72,000, 00021 *14! 72,000
OS2It S 8 S2EES HIIFY
46,000, 0002 * 14! 46,000
ONY ZLEA (V0D ZSIC,HHD
Jh4400LERSD 2ESD)
126,000, 0002 * 14! 126,000
OnY 2 HE B42ATA 666,000
—24TD PLBABA
520,000,0002! 14! 520,000
—ZODIR PABABA
146,000, 0002 14! 146,000
03 Al& = CH| 4,196 3,402 794
OnY 2 HE BH2ATA
666,000, 0002 x0.63/ 100 4,19
HERD FUIZA 241,728 100,720 141,008

401 AIEHIZ 208 241,728 100,720 141,008




AN SEF AL
M T EAM 2
&2 S2AEE R

HA .- M. CO (5 HEAY . N2 HEE Hl o =2t
01 Al&HI 240,000 100,000 140,000
OZe & s B0 HUISAH
120,000, 0003 24 2 240,000
03 AI&=20HdI 1,728 720 1,008
OB&=1W HUISAH  240,000,000&*0.72/100 1,728
ol S ALY 603,780 0 603,780
401 AEHIZ2OHb] 603,780 0 603,780
01 Al&H| 600,000 0 600,000
OZNHEY T S bIia AIHRA B3 A
300,000,000 =14 300,000
OZ0IXIz =2 SA 300,000,000 =14 300,000
03 Al =20HY| 3,780 0 3,780
O=N=7SA 600,000,000& *0.63/100 3,780
HYE ¥ XotXE RA2 2S , 118,000 0 1,118,000
206 =Yl 30,000 0 30,000
01 =4l 30,000 0 30,000
OHYE & Kot EXM 2
15,0002 20001 105 30,000
401 AIEHIZ 2 ,088,000 0 1,088,000
01 Al&HI ,088,000 0 1,088,000
OHE & Kot #A2elEaY
1,088,000, 000& 14 ,088,000
Hz2s KX22 ,067,118 1,761,218 305,900
t2s & Eots 2¢ 858,000 950,260 A92,260
201 Let243| 858,000 950,260 AN92,260
02 =234l 858,000 950,260 A92,260
Oitzs, Bets S HIIA4d &IIea & A
Al 70,000,000& = 12& 840,000
OEIIEEH =2 1,500,000& x12& 18,000
2SS B EHl 512,207 357,556 154,651
401 AIEHIZROHb] 512,207 357,556 154,651
01 Al&H| 509,000 355,000 154,000
Oitzgs B+ ¥ sz 509,000
—t2s Ald 2 WX 2,300,000 *300H A 69,000
—Jt2s 2dg uwH 4,000,000& *50CH 200,000
—Jt2s EZJ| uH 1,800,000 & *50CH 90,000
-2 RAE= 600,000& 2505 150,000
03 Al =20HY| 3,207 2,556 651
OJz2s B+ 4 sX2cl
509,000,000 *0.63/100 3,207
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_ _ _ Muo
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401 Al HIL2OHY] 211,512 90,810 120,702
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SYSOIEI el SESZML 2SS ZHIZA 301,153 0 301, 153
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01 A& 299,000 0 299,000
OSYGI0lEI Tl L JtES A& 2 BH
2,300, 0002 *1307H 2 299,000
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299,000, 0008 %0.72/100 2,153
BHE 2 XGHEANE M, SARXNSLBA 80,000 0 80,000
401 AlEHIL 2O 80,000 0 80,000
01 Al&yl 80,000 0 80,000
OZSHE S 20 HIAYHMEY W22
40,000,000 %274 £ 80,000
CIESESEE] 128,640 1,616,099 512,541
St KXl 128,640 1,616,099 512,541
SHEL SEHS o 20,000 10,000 10,000
401 Al HIL2OHY] 20,000 10,000 10,000
01 A& 20,000 10,000 10,000
OZRMAH(EHE, 2H)RXe
2,000, 00021 * 107§ £ 20,000
SHENEE RNES 302, 160 100,699 201,461
401 N &HIYL2 Y] 302, 160 100,699 201,461
01 A& 300,000 99,800 200,200
O5td & 2K ALSIY| 300,000
starmel 85,0002 *400m 34,000




SA EEP AL
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B o & M|
CHel: StE R 22 (Sl a2
= HUE &
SA - EM . OR(F]]) - NRAIY - BAS P Gl o HlmE 2
—SIE(TIAH)ANLE HH| (45 & 2% 5)
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—5% J|EEY Y YRR SXBA
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OBt (RH)A LS BHIZA
300,000, 0002 *0.72/100 2,160
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UHSABH (ST ALD) 318,426 304,225 14,201
o122 et 253,926 241,225 2,701
o122 o] 253,926 241,225 2,701
101 01 24| 249,726 237,025 2,701
IESIFEEENERS 249,726 237,025 2,701
OG22l L F48 oAy 159,847
—Jl=3 1,181,530 42 122 56,714
—a012 1,181,530 %4 +7. 5% 35,446
—E£YIDLY  51,040R 1. 52 x4 122 7,350
—Al2tel4g 95702 x30AI 2+ #4% » 128 13,781
— 220143 429,820% x4% » 12 20,632
— o 51,0402 4% 5202 4,084
~DERX3 140, 0002 4% 122 6.720
—FUAH B 80,0008 *42 * 12 3.840
—JtErg 60,0002 *42 * 12 2,830
—Esy 80,0002 *4% » 12 3,840
—Mag 70,0002 *4% » 12 3.360
—er gLy 100,000 124+ 128 1,200
ONZS BB Q2| 52,912
—Jl=3 1,373,500 %1% 122 16,482
— 4013 1,373,500 %1% 7,52 10,302
~FYT2AGY 55,3608 +1.5:22 14128 1,993
—A2tel4E 10,3802 +30AI 2t 1 +128 3.737
— 2813 529,052%1 %1% » 12 6.349
— o x4 55,3602 * 124202 1,108
o EES 140, 0002+ 1%+ 122 1,680
L OLIEES 80,0002 * 12§+ 12 960
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— Y= 906, 160! *12 x75%+23] 1,360
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OJlE2Y2ET o 130, 0008 202 * 12 31,200
405 XH&HF S 4,500 0 4,500
01 Xtar 223 S| 4,500 0 4,500
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M BR3P AT
Mo WHSAAH (ERT ASD)
chel: ol (el a2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
ol 2HH| 32,625 4,200 28,425
olzr2 eyl 32,625 4,200 28,425
101 o1 21H| 28,425 0 28,425
03 RIHLZ 224 28,425 0 28,425
CEA HER 28,425
—JlE3 906, 160& x12& 10,874
—J|2=4 906, 160& *x400% 3,625
— A2t =S 4,630 *1.5%30A 2+x12& 2,501
—SUAI224Y 4 6303 *1.5x8A| 2tx2L x12E 1,334
—ItE=Y 100,000& = 12& 1,200
— JFAIRI & H| 906, 160& x0.5%43| *1H 1,813
— WS E x| 140,000 »12& 1,680
— M FAH| 80,000 12& 960
— &S| 906, 160& *0.75*23] 1,360
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01 At22teldl 33,120 34,560 A 1,440
OFNM2ZH| 60,000 x23H x12& 16,560
OJI23 &l 60,000 x23H x12& 16,560
202 4 18,720 20,280 A 1,560
01 2| 18,720 20,280 A 1,560
OJ IS RF& b 130,000& 128 = 12& 18,720
405 XH&HFE SHI 500 1,400 A 900
01 AL =EF SHI 500 1,400 A 900
QuldlAolI& (Al F7) 500, 000& = 1CH 500
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SN HYS
B X SRRISH 8122l 2]

Crel: NYRAISH &z R R
_ _ _ Muo
SA B HRA(SH) - MRAY - B O & o4 i HIREY
T A 130
dgd=s FUNXEEH 29 352,860 381,750 A28,890
FOUXNXIHE 24535 252,120 274,630 222,510
FOXXHH 22 111,380 130,600 219,220
201 LEH2HH| 27,200 23,200 4,000
01 AtSR22/Hl 20,200 18,200 2,000
OF2XXIHE 2| 600,000& «12& 7,200
OFUTXIME +LHDE oYL
2,000,000& 2,000
OFQIRXIHE AaIX 22t 2,000,000& 2,000
OFURAIAAS SloBA 42
30,000& x25H «12& 9,000
03 A2 ZHI 7,000 5,000 2,000
OFUNXME HELES L TAIS
3,000,000& 3,000
OF0XXIdHZ NFE & Ast 2,000,000& 2,000
OF0XXIEH SMZH 28 500,000 *43] 2,000
203 R4l 600 600 0
03 AMF=XHLFEH| 600 600 0
OANBAH &5 =X 600,000& 600
301 Ypt8ag 83,580 78,900 4,680
10 EAIAHIE A= 83,580 78,900 4,680
OFQUTRIMEl TRAZAX A2 4
20,000 »285F «12& 68,400
OFUNXIHE Ald2e] N SALAR Aldl 24
20,0003 x3H *253 15,180
QEgEXel =24 26,950 27,240 A 290
201 LBt A 26,400 27,240 A 840
01 AtS 22l 12,000 12,000 0
ORIAHIARFA =FHl 1,000,000 «12& 12,000
02 =234l 14,400 15,240 A 840
OBZ23 2 WA 14,400
—RERS 1,000,000& x12& 12,000
—HERERS 200,000& <128 2,400
405 AHoHESHI 550 0 550
01 ML ESHSHI 550 0 550
OXFels =i (A7) 200, 0002 104 200
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sSgHEEsI 100,790 100,790 0
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WRSBSZLHED] 3,000 6,000 3,000
301 LerE AR 3,000 6,000 3,000
10 BAAHIZA S 3,000 6,000 3,000
OMVSBIUCIS)| HEAFUK SAH|
6,0002! ¥50% x25] «52 3,000
HYs 22 2= 10,000 10,000 0
307 QI2F0IH 10,000 10,000 0
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S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
01 RMUSEH S| 350 4,300 3,950
OROfoI8 BHII(AR) 350,0002 * 14 350
sy 25 ¥ 79,110 82,110 3,000
301 LBAI 79,110 79,110 0
05 S-2-UPBS2BHI 79,110 79,110 0
oszy+g 200, 0002 x222 * 143 61,600
Ooptz4g 25,0002 %1398 #25| 6,950
OSH SAFAN £Y 20,0002 22 25| «128 10,560
WREB22L0ST| 3,000 6,000 3,000
301 LBBAI 3,000 6,000 A3,000
10 BAAHIRAS 3,000 6,000 3,000
OMRBZSUNESI HEL HOIX 24
6,000 x50 +25| 58 3,000
sHN2Y 113,820 106,840 6,980
A2 S| 50,750 49,640 1,110
201 L2y 50,750 49,640 1,110
01 AR eIt 2,400 2,400 0
FANSY Lo 200, 00021 * 122 2,400
02 IT2YH| 48,350 47,240 1,110
OZZR3LHA 19,440
—zilea 1,100,002 122 13,200
~ MBI 223 70,0002 122 2,040
~SEHE L JIEHA 350, 00021 * 122 4,200
ooz 1,200,000 * 128 14,400
SNEETTES 10,410
—FHA 2 ANEZ2 SN2
450,0002 *122 5,400
R IE TP 70,0002 122 2,040
—EAb gat2relyl 10,0002 122 1,320
—HA 9% HO NH 1,650,002 14! 1,650
Oxt | 4,100
—~HENY(TEH, BT BN
300, 0002 *122 3,600
—0I2X S 500, 000! 500
AR RIS 63,070 57,200 5,870
201 L2 3,000 0 3,000
01 ALR el 3,000 0 3,000
OBAMBZNL GE Lo+ 3,000
L=t 1,000,002 1,000
—~HAEAFY O™ A 2,000,000% 2,000




SH: SRS
o oIS FORNXNME 29
ool SEARY (S92
- = — N e
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
401 AEHI LS 60,070 52,200 7,870
01 Al&l 60,070 52,200 7,870
OZ8QIAM SZWLAZA 21,800,008 14! 21,800
OZEgoRA 002t XA
6,200, 0002 * 14! 6,200
OZ8oRa LA LXIBA
21,600,000 %14} 21,600
OfIgA =& S HXBA
6,400, 0002 * 14! 6,400
OFojol MY2 HHl BAF 4,070,008 14! 4,070
ZoIE ALY 30,000 30,000 0
ZOIZHAIE HU| 30,000 30,000 0
401 AEHIYLS 30,000 30,000 0
01 Al&| 30,000 30,000 0
OF 012 ARl bl 30,000, 0002 30,000
HHL AL (GIHAE) 73,960 82,461 ~8,501
ol 2yl 40,480 39,761 719
ol 2| 40,480 39,761 719
101 Q124 28,720 27,961 759
03 RIAHAIERE 4 28,720 27,91 759
CENETIETIEE] 28,720
-2 836,680 *122 10,041
—lzay 836, 6802 *400% 3,347
— b X2l 836, 6802 *200% 1,674
—YEEIH| 836,680 % 150% 1,256
—DEEXY 140,0002! * 1224 1,680
—Z oAl 80,0002 * 122 960
—22oH2
836, 68021 /24348 Al 21 650+ (23«22 +24 1 + 1 5,121
0g)
—Jtmay 20,0002 x2 « 128 480
—gu294y 35,7602 +1.5+22 122 1,283
—Al2tel g 6,700 * 1541 2++122 1,206
Sy 30,0002 * 122 360
— i 35,7602 %202 716
—HAZRIY MTHREE
28, 129,0002%21/1,000 591
203 YR 9,960 10,000 A0
01 JIR2YAR =AY 6,600 6,600 0
Ol YyYR =AY 6,600, 0002 6,600
02 HANMHREAY] 360 400 A0




2N otH3=S
A HH2A G| (SICH&
Erel: oleiz ety TR
S ED .S (B0) - NRAY - BAS ok o S ==
0f & o8
OF It A RF=&| 40,000& x9H 360
04 SHEAALEAY] 3,000 3,000 0
ORMZZHERF=2AI 250,000& = 12& 3,000
204 N2 AHY| 1,800 1,800 0
01 MM FRHZH| 1,800 1,800 0
OXBSHIRFLHI 150,000& = 12& 1,800
=kl 33,480 42,700 A9,220
=224l 33,480 42,700 A9,220
201 Let243d| 17,280 19,200 A 1,920
01 AtS2t2ldl 17,280 19,200 A 1,920
OfM2Z | 100,000& x9H «12& 10,800
OJ ==&l 60,0003 x9H x12& 6,480
202 44| 16,200 18,000 A 1,800
02 NI 16,200 18,000 A 1,800
O HHHI 150,000 x9H » 123 16,200




2M: EES
A XLRXSH dA2el Bl
el AU &dH2elZ (98

SNBSS - MEAY - BES 04l &k 24

=1

(R

121
==
El
i
oy

TES 723,497 224,481 499,016
745
722,752

r

= H

AN AR M o H2el B 2,161 0 2,161
745
1,416

=z H

KSR M & H 22 S 2,161 0 2,161
745
1,416

= H

o
H
omn
=
-
oz
rx
¥
4
pal

2,161 0 2,161

745
1,416

=

101 1A 220 0 220

110
110

= M

04 JIZtHZ2NSE=> 220 0 220
OHb2l dIsAXNYEN JI2ZHMIZZ2A 212
220,000& 220

110
110

=

201 LEH2HH| 1,416 0 1,416
370
1,046

= H

01 At 2t2ibl 1,416 0 1,416
OHMI5al d=SAAYEH 28 &
,000& 886

200
686

=

OHM5al HISAANLEEH dRFA

30, 000& 530
170
360

= H

202 Oddl 265 0 265

135
130

=

01 =LHOYI 265 0 265
ORMb5el E=sSAXNSEH HEFE K|
265,000 265

135
130

=z H

203 AR =& 260 0 260

130
130

=

EIEESS

| 260 0 260

&l

i

260,000& 260
130

H




2M: EES
A XLRXSH dA2el Bl
el AU &dH2elZ (&9 &d)
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F K @ﬁOH BlusZ
[ ]] Al 130
TES FUNXEH 29 652,801 160,470 492,331
FOTXNYH 43t 110,310 94,650 15,660
FOXXIMEH 29 52,080 29,840 22,240
201 L2249y 20,800 16,720 4,080
01 AtS22iHl 15,800 14,720 1,080
O=2XdE 2| 400,000& 12 4,800
OFLURAEEH 2208 == 2,000,000 2,000
O=UNXAZS sl &M
30,0003 x25H x12& 9,000
03 A2 5,000 2,000 3,000
O=QURRHYH HELE & HAZ
3,000,000& 3,000
OR% FOUXXIMEH st 2,000,000 2,000
203 ¥ =&l 600 600 0
03 AIBF=XYRFLH| 600 600 0
OAEAIH F2l 600,000& 600
301 dEtEAS 29,680 11,520 18,160
10 ALAHIE &= 29,680 11,520 18,160
O=QURAHH KSAX &HI24
20,0002 x100Z 122 24,000
OFDIXRMME Al&2e] NASAX algI24
20,0002 2 142! 5,680
405 XtobE SHI 1,000 1,000 0
02 =M 1,000 1,000 0
OFURNXIHE =AH 7L 10,000& » 100 1,000
LEYRMel 29 15,900 15,900 0
201 LEH2HH| 15,900 15,900 0
01 At 22ibl 8,400 8,400 0
Ouzdd g2 =& 700,000& 123 8,400
02 3323l 7,500 7,500 0
O2Z283 % WAl 7,500
—RER=3 600,000& =122 7,200
—UERERS 300,000 300
S.0tE #s¥ 39,330 42,910 3,580
301 dEtEHS 39,330 42,910 3,580
05 S-cl-&EEs2d=s 39,330 42,910 A3,580
(@)=F5; 36,080
—=g 200,000& *11H *143] 30,800
-3 oA 20,0008 »11H 23|« 12& 5,280




SN

cES
HH: CES FUNX
= 3

el ‘aﬂil’ﬂlﬂ El“éﬂ (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
ogtd =4 25,0003 65 »23 3,250
MRet =52 eS| 3,000 6,000 23,000
301 Let2a= 3,000 6,000 /3,000
10 SAIAHIE2 o =S 3,000 6,000 A3,000
OMRet==3ZHS)| HELZEWHL S4H|
6,000& ~50E 23| 5 & 3,000
= EAN=d 512,491 35,820 476,671
EA=2E 3| 54,000 35,820 18,180
201 LEH=2HH| 54,000 35,820 18,180
01 At 2t2ibl 3,400 2,400 1,000
OEAMN2Z Let+=EH| 200,000 «12& 2,400
O&=J| Xz 1,000,000& * 14! 1,000
02 3323l 50,600 33,420 17,180
O3Z282= % HA 26,000
—JAIE AL 22/l 700,000 62 4,200
—&IIReR3 1,500,000& 123 18,000
—d.ot=R= 300,000& 6 1,800
—282 & JIEHMA 2,000,000& 2,000
O =l 6,000
—SAIDEA & X e 500,000& 12 6,000
OAE & HI= X dl 13,200
— R0 dHl=x=2 250,000& ~12& 3,000
—&J1otM 2tel 300,000& 6 1,800
— A EHOHM el 150,000& ~6& 900
—s&J =Xl 250,000& 6 & 1,500
—EA % AEEH KRA22/H
500,000& =12 6,000
OXt&Hl 5,400
PNE= L] 400,000 x12& 4,800
—0lEX 50,000& =123 600
A EAOIE 458,491 0 458,491
201 LEH2HH| 36,500 0 36,500
01 AtS2t2ibl 31,500 0 31,500
OsS&EA Ol E Ler+==Hl 31,500
—SEAF OlHQHY S5 MA
100, 000& 104 1,000
—S&A O MR E MIZ 100& =5, 0000H 500
—AEA OIFM 8 A2 2Ll
5,000,000 * 14! 5,000
—ZHAOIEHI (BT & HIZ0lAH])
6,000,000 * 14 6,000




2N EES
M CEFS FUMILEH 29
el S FA2E (&9 HM
A -3 -H2A(SH) - HEAMY - BES O AF K dd = Hos
(il & OH
—ZREH L FLUAMA OlXY
5,000,000% * 14! 5,000
—HLHED| Ol M| 2,000, 0002 =14 2,000
—dUl RS2 (MESE2) MA
9,000,000% * 14! 9,000
—HAMLHAE 3,000, 0002 =14 3,000
03 dAIZEHI 5,000 0 5,000
OFAOI &0 [HE ALK AbI 5,000,000& 5,000
401 AM&HIYL 2048 233,000 0 233,000
01 Al&H| 233,000 0 233,000
OMHEA A28 55,500
—SFOUMEH SEAAE 5,000, 0002 =14 5,000
—ABEE HAAH 3,000,000& * 14 3,000
—2UHE 3,000,000 *14] 3,000
—SF0MEH SEA FE 1,000,000 14! 1,000
—SF0HEH X=4 2v2 4,000,000 14! 4,000
—SF0dlE 2r 4,000,000 24 8,000
—AE3RS &H 6,500,000 =14 6,500
—e-TELE S 3,500,000 * 14 3,500
—SY94(s2Y) 5,000,000 *14] 5,000
—LEDA & |t 10,000, 000 *14] 10,000
—SYUANAIN Ol M 2,000,000% * 14 2,000
—Z=0IME 2ot EXIE 1,500,000 *34] 4,500
OUEA A== 120,500
—2H20l EX(EMD & D)
11,000,000 * 14! 11,000
—4SAE(Es L HOna)
22,000,000 = 14] 22,000
—&H2HEIZ &X 16,000,000 * 14! 16,000
—201ZH| &X 5,000, 0002 =14 5,000
—USSEFANE(324A) 20,000,000 * 14! 20,000
— S0 &I 6,000,000 * 14 6,000
—2a AtelE &X 8,000,000 *14] 8,000
—=0XXHEH T2 HAE
5,500,000& * 14 5,500
—=3220 4X 5,000,000 *14] 5,000
-2 O™ & FIHEX(2M D)
8,000,000& 14 8,000
—&UEE 4,000,000& * 14 4,000
—Hiets SAHAE & 2F
10,000,000 * 14! 10,000
Ozgaza 29,000
— QIR &X 21,000,000 *14] 21,000
— Q30 OICicodete! 7,000,000 *14] 7,000




2N EES
M EES FUMXEH 29
el S ARG (etel: =3
S HE - CRI(EH) - HRAY - B 01 &t o8 e HlRE2
Oil &t o8
—=HIIE Ol & =t £X
1,000,000& =14 1,000
Oglaaga(sza) 11,000
—=3 6,000,000 14 6,000
— SN =T 5,000, 000& 14 5,000
O A EAL J&=74| 17,000,000& * 14! 17,000
405 KHAHFESHI 188,991 0 188,991
01 HARESF=H 188,991 0 188,991
SEEEIETNINES 43,441
— A PAOAN A E DI (A A, 2N IHEI A
) 15,000, 000& * 14 15,000
~xslog Holg Y AN
3,700,000& 14 3,700
—0IASE QR (EREE) 2,500,000 *14] 2,500
— & 500,000& +2H 1,000
—PCHMCH A 2 O (IEY FBA)
1,600,000& *14! 1,600
—ZEH(AUHY HE24) 1,400,000 *4CH 5,600
—JIEU(HLE) 500,000& *1H 500
— &3 (&) 200,000 *1H 200
—BEHI(Z0E) 350, 0003 104 350
— & X120l 300, 000& 204 600
—==2 3,000, 000& 14 3,000
—gdgla 2,000,000 = 1CH 2,000
— = At 4,500,000& = 1CH 4,500
—SJIE8E0| 2,000,000& = 1CH 2,000
—FUSES ZE 891,000 *1CH 891
Oglaadga(sza Al) 15,000
— AL AOAAABIE DI (24, M e, 2 XL THEl &
) 6,000, 000& 14 6,000
—STHME(32HO0IZ,2 X
6,000, 000& 14 6,000
— M REY FAZ OHHIR 3,000,000 * 14 3,000
OF0IMaXa Agal (A7) 3,850
— 300, 000& 204 600
—E2SHIXI 300, 000& * 104 300
—EUI(HoHE) 200,000& *1H 200
—E2FHI (A E) 350,000 *1H 350
—ZEH(LULEHEE) 1,400,000 = 1CH 1,400
—dioId =g H 1,000,000 »1CH 1,000
ORXME Z2I8 atgal(alR) 4,700
—otI A3 1,200, 0003 =14 1,200

_mmy 300,000 x2H 600




CES
CES FOUNXLH 2
s BMN2E
SN H - SR(EH) - NPAMY - BES arol Siato
— oI Xt 300, 000& * 104 300
—S8NE 500,000& » 14| 500
—AEH(ZUEHHEE) 1,400,000& = 1CH 1,400
—dioIdZelH 700,000 = 1CH 700
Od.olgoa (&) 2,200
— &t 700,000& »24! 1,400
— &3] 100, 000& 2CH 200
—dEBEAT 300,000& +2CH 600
OME et A (&) 23,300
—dAJ|D| 22,000,000 14 22,000
—aegH 300,000 =14 300
—=g¥ 1,000,000& » 14| 1,000
Oz A (&) 1,300
—agd 300,000& * 14! 300
—=g¥ 1,000,000 » 14! 1,000
OF0lwA(1,2,3,417) 37,000
—A2E ¥ =EE 3,000,000 34! 9,000
—30IEEE 300, 000& +3H4 900
—Z2E Mot 7,500, 000& 24 15,000
— 2| Xt 4,800, 000& 24 9,600
— 22 500,000 »34! 1,500
—LU2ME 500,000& +2CH 1,000
OotsAA,2,457) 30,200
—=gd 2,000, 000& *24] 4,000
—30IEEE 300, 000& +2H 600
-z My 7,500, 000& 24! 15,000
— oI Xt 4,800,000 *24 9,600
— 22 500, 0003 »24! 1,000
OA3I9 Al (&) 19,600
—AH(34Y) 6,000, 000& 14 6,000
— 9| XH(34Y) 6,800, 000& 14 6,800
— Ab2| CH 500,000& *1H 500
—HICOREZ X H 3,500,000 * 14! 3,500
—dsA3E 1,000,000& » 14! 1,000
—TES 1,800,000& » 14! 1,800
O3 A (&l57) 3,300
—ZH, AT 1,000, 000& =14 1,000
—ABEAD| 300,000 =1CH 300
= IE=E ) 2,000,000& = 1CH 2,000
OFURXHEHE ZHIQXH(2,35, 41 7F)
350,000 64! 2,100
OERUME (&) 1,000,000 »34! 3,000




2M: EES
M EES FUUXNEH 22
CHol: FOISRALY EEREED
FAH-FH-SASA) - NRAE - BE=Z AbOH &lEE St
e cSH I T2 ° _I_ [= Bl e (] 04”:"% o
D=3 A 30,000 30,000 0
FUEHAIEE L 30,000 30,000 0
401 A EHIL 2048 30,000 30,000 0
01 Al&H| 30,000 30,000 0
OF0I= At 30,000,000& 30,000
HY2IHU(EES) 68,535 64,011 4,524
QIR A| 35,055 34,251 804
eI 2| 35,055 34,251 804
101 el 4] 23,295 22,531 764
03 RIHAZIZXNE = 23,295 22,531 764
OFEAM22E 23,295
—Jl=22 836,680& «12& 10,041
=Yg 836, 680& *400% 3,347
—JHA X & Y| 836, 680& *200% 1,674
—FE SO 836,680 *150% 1,256
—wWS2 x| 140,000 «12& 1,680
— M S A 80,000& »12& 960
—Rldl=g 30,000& x12& 360
— =22 6,700 x15A1 2t*12& 1,206
—5Y2RE 35,7603 x1.5x2 « 123 1,288
—AXt=g 35,7603 16 573
—2E0H4 =
836,680 /2438 A| 2t x65%+2H x 128 430
—&MTHEEZ 22,815,000&*21/1,000 480
203 HRF&Hl 9,960 9,920 40
01 J|22SHFRF=&HI 6,600 6,600 0
OJI&22F YR =4I 6,600,000& 6,600
02 FAANMAMHSFAHI 360 320 40
OZ I H =] 40,000& x9H 360
04 BEASSEHRFEHI 3,000 3,000 0
ORNMZBEYEF=AI 250,000& «12& 3,000
204 MR 1,800 1,800 0
01 Mg HPHA| 1,800 1,800 0
os% 150,000& x12& 1,800
2| 33,480 29,760 3,720
=&l 33,480 29,760 3,720
201 Y2 y| 17,280 15,360 1,920
01 AtR 22/t 17,280 15,360 1,920
OR M2l 100,000& 9 x 123 10,800




SN
X XH .
S Tt

el

SA-EH - S2A(SAH) - MRAE -

H A

g8=

r

[
2

20
B
2

OJl2sEl 60,0003 x9H x 12 6,480
202 O] 16,200 14,400 1,800
02 XN 16,200 14,400 1,800
O A0 150,000& «9H «12& 16,200
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